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ORLA
Triangular Shawl

Design: Käte Stödter

Knitting

Easy

Recommended Yarn

SIZE
Approx. 37 x 190 cm

MATERIALS
Schachenmayr Ocean Drop, 150 g ball
Approx. 150 g ≈ 480 m
Col.  00084 (curacao)    1 balls

Size 4.5 mm (US size 7) circ. needle, 60 cm long
1 tapestry needle for weaving in ends

GAUGE
Stockinette stitch using needle size 4.5 mm: 
21 st and 30 rows = 10 cm x 10 cm

THE BASICS
Stockinette stitch using needle size 4.5 mm:
RS: knit. WS: purl.

Garter stitch using needle size 4.5 mm:
RS and WS: knit all st.

INSTRUCTIONS
Note: begin the shawl at one corner and work crosswise 
to the other corner.

Cast on 6 st and knit a WS row.
R 1 and 2: 6 st in garter stitch.
R 3 (RS): 3 st in garter stitch, yarnover, 3 st in garter stitch  
= 7 st
R 4 (WS row): 3 st in garter stitch, p1, 3 st in garter stitch
R 5: 3 st in garter stitch, k1, yarnover, 3 st in garter stitch
= 8 st
R 6: 3 st in garter stitch, p2, 3 st in garter stitch
R 7: 3 st in garter stitch, k2, yarnover, 3 st in garter stitch 
= 9 st
R 8: 3 st in garter stitch, p3, 3 st in garter stitch
R 9: 3 st in garter stitch, k1, k2tog, yarnover, 3 st in garter 
stitch = 9 st
R 10: 3 st in garter stitch, p3, 3 st in garter stitch
Work R 7 to 10 = 1 pattern repeat over 4 R another 68x= 
77 st.

In every first R of the pattern repeat work to the last 3 st, 
end with yarnover, 3 st in garter stitch (= 1 st increased). 
In every 3rd R of the pattern repeat work to the last 3 st, 
end with k2tog, yarnover, 3 st in garter stitch. The number 
of st is the same. After 4 R 1 st was increased. Work the 
increased st in stockinette stitch. Every other R and in every 
4th R purl all st and work at each edge 3 st in garter stitch.
Then work 3 cm without increases as follows: 3 st in garter 
stitch, work 71 st in stockinette stitch, 3 st in garter stitch. 
In the next RS row begin with the decreases at the left-
hand edge.
R 1: 3 st in garter stitch, k68, k3tog, yarnover, 3 st in garter 
stitch = 76 st
R 2: 3 st in garter stitch, p70, 3 st in garter stitch
R 3: 3 st in garter stitch, k68, k2tog, yarnover, 3 st in garter 
stitch = 76 st
R 4: 3 st in garter stitch, p70, 3 st in garter stitch
Repeat R 1 to 4 (= pattern repeat) 68x = 8 st. In every first R 
of the pattern repeat end as follows: k3tog, yarnover, 3 st in 
garter stitch (= 1 st decreased). In every 3rd R of the pattern 
repeat end as follows: k2tog, yarnover, 3 st in garter stitch 
(the number of st is the same). After 4 R 1 st was decreased. 
In every 2nd and 4th R work 3 st in garter stitch at each 
edge, purl all remaining st. Work the next R as follows: 2 st 
in garter stitch, k3tog, 3 st in garter stitch. Work 3 R in garter 
stitch (= 6 st), then bind off all st.

FINISHING
Dampen and block the piece according the measure-
ments; allow to dry. 
Weave in all ends.

ABBREVIATIONS
k = knit
p = purl
R = row(s)
RS = right side
st  = stitch(es)
tog = together
WS = wrong side


